Boot Camp #4: Circles

Take Home and Check

All About World Records!
Qom o 1ooths.

Name

1} Find the area of the shaded region. S%uuxre. = bxh
Exg=bdm”
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2) What is the circumference of a tire =2 )
swing with an area of 91 in?? A=Tr N C=20ar :
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3) The largest digital chiming round
clock is in Saudi Arabia. It
measures 21.5 feet from its center
to the outside rim. What is the
distance around the clock?

Lcmli,i‘f\g %ar' Q,Erc,%mpe;f&ﬂm._:
sz’?f
C =(2)(-14)(21:5)

r(‘j-:» 135.02 @ﬂ

A
4} ifﬁaat is the area of the world’s

biggest cookie, which is 102 feet
wide?

Looking for avea: X
T %
A= (344)(BD(sD

that's a BIG Cookie!

B,
5) The world’s biggest pumpkin pie
has an area of 314 ft*. What is its
circumference?

A = ’T\?‘ L4 - Q::.. 2 Tr '
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6) The world's largest pizza has a

diameter of 131 ft. What is its area?

What is its circumference?

@) diometer = 13
rodias = 131 . (5.5
Y
A= TTr?

= CgJﬂ@ﬁ?@X&Sﬁ)
A= 1317139 H]
¢=A0r

(2)(3.14)(65.5)
(€= 4134 £1 |

ABC

7} Aroundabout is a traffic circle. The
world'’s biggest roundabout is 2.7
7% miles in diameter. How many miles

8 does a car go to get all the way
around the circle?

¢

7) Loo King Oor Cirewmrerence
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8) The largest burger in the world

Look ing for orea dia=2

—— 2 =
. _ 8) Area = Tr v
weighed 134 |b. and was 2 ft in .
diameter. It cost $400. How much - (3. !‘%) (1 )
did the burger cost per square foot?

4= B £t
Ho0 3-1&&WM/§M
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4 ) The largest round swimming pool is @ | oo Kmﬂ ’Pﬁt’ rodins -
the Coliseum Pool at Pelican Beach
Resort. It has an area of 14,519.36 A= Tr z
ft* The hotel wants to install a 9.
e special slide that goes from the j4s519.%36 = C% - 5"'0 v
center of the pool to its edge. How
At long will the slide be? . I4519.30
3. 14
2.
= 4624
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= Hry
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f¢5Y Mary has a circular dining table
with a radius of 0.65 m.

a) What is the area of the top of the
b table.

b} The perimeter of the circular
tablecloth is 5m. What is the
diameter of the tablecloth?

10)

Ct) j%u2:'1TnY'QL
= (3.0)( 65)(-65)
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1) Ahalf circle overlaps with a
square. The diameter of the half
circle is 12 inches. What is the
area of the striped parts?

£

12 inch

b I 2 (34 YBL)
;O Y circle = 2 7 -%g' -

— 0 .
= N304 5 50
= s
5b.52 2%.20 in.
P

-

Square = 2k in
306 ~25.2l in= F.74 n

28.20 + F.34 = |




Qz} How much ribbon is required to
trim a circular skirt along the
A’ oL waist and along the hem if the
diameter of the skirt is 2m and
the waist hole has an area of
200 cm?,

j0) Looking for circumference.
Waist £ hem

Waist = 3
2006 = mr y
200 = (3 1H)F

hem =
diamefer = 200 CM:

C=Td
= (3.14) (200)

= (2% Cmn

2% + 501 =| (&N cm,J

]Or b 7% M

13} The radius of a circleis 5 inches.
What is the
A
R a) diameter
b) circumference
¢} area

’3) D=f0in = B s 2

C = W _
(2(3.114)(5) =]3mmi

A' = TE_VL
(3. 14)(25)
!??-S in™ |
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B.C Ace
E% What is the area of the figure below.

C. o :
Ace
5 mm

359 + 75 =|/38:57 o]

A B
!5‘ What is the circumference and
p{ area of this circle?

B

15) = Td
:(2.14)((9.2.)_
=134t em

=
EREVERIERD
-"@0- I8 cm?]
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Fill in the missing measurements gg&")
in the table below.
Radius Diameter | Circumference | Area
Radius Dizameter Circumference | Area
10in . ) md v
| 2000 [R5, Gl
106/ 56t 106 (3.D{10) = (3.!«4)()‘5‘)
3Hfr | 95587
76.4in Td . (.e)GHEN)
j2.1% %M:;.a«atm’“ 6507
379.94 f12 N 1 d= 2433 n*
39 ic? Tg ?«) * e e
j =% 2
e nG ),

r=

A { 5; C, A’C;Ca

%) I¥)

A rope is wrapped eight times C =1l &

around a cylindrical post, the - 6‘5 . gq)( 33)

diameter of which is 35cm.
¢ = 109-9

How long is the rope?

j09.9 x ¥ = W

Ace, A;ch

§?§ What is the area of the shaded
region?

:Fa"\'
A

T5% of N3.04 =

5 (l13.04) = [F35 e’
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19} Find the area of the shaded
region.

o Circlea.

bf% Clrcle =

MTe*

(34410 10D
e in®

sm cwele =

2135.50 in*

W
I
i
~
o0
0y
g

A

20) Find the area of the figure below.

25.12 +4 = R5 12 #°
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21} Find the area of the portion of the
basketball court below.

19 ft ——

!

Y circle

e Ctangle:

bh =19« ! |2 = 22§€+
g(‘;im!ﬁ

=
(3.0)(C)e)= 113:0%F . 55

Q

ARE+ 5652 =
285452 4%
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